
  

 

MODEL # 2705 and 2705EX 
 
8

Item Part No. Description

1 49656 Glide 1" (x2)

2 89129 Hex Nut #8-32 (x2)

3 18710 Drive Bar Assembly

4 17543 Tumbler Base

5 87163 Strain Relief

22038 Lead-In Cord, 15 amp (Domestic)

42369 Power Supply Cord (Export)

49045 Motor 120V (Domestic)

49045EX Motor 230V (Export)

8 42532 Switch, DPST Rocker

9 17544 Motor Cover

10 17542 Plastic Tub

11 17547 Lid (Not Pictured)

6

7

Parts – Mini Cheese Corn Tumbler 
 

 

  

1 
2 

3 

4 5, 6* 7 

8 

9 

10 

11 Lid (not shown) 

****CAUTION: If supply cord is damaged, it must be replaced CAUTION: If supply cord is damaged, it must be replaced CAUTION: If supply cord is damaged, it must be replaced CAUTION: If supply cord is damaged, it must be replaced 

by Gold Medby Gold Medby Gold Medby Gold Medal Products Co., its service agent, or similarly al Products Co., its service agent, or similarly al Products Co., its service agent, or similarly al Products Co., its service agent, or similarly 

qualified persons in order to avoid a hazard.qualified persons in order to avoid a hazard.qualified persons in order to avoid a hazard.qualified persons in order to avoid a hazard.    

    



  

 

MODEL # 2705 and 2705EX 
 
8

Item Part No. Description

1 49656 Glide 1" (x2)

2 89129 Hex Nut #8-32 (x2)

3 18710 Drive Bar Assembly

4 17543 Tumbler Base

5 87163 Strain Relief

22038 Lead-In Cord, 15 amp (Domestic)

42369 Power Supply Cord (Export)

49045 Motor 120V (Domestic)

49045EX Motor 230V (Export)

8 42532 Switch, DPST Rocker

9 17544 Motor Cover

10 17542 Plastic Tub

11 17547 Lid (Not Pictured)

6

7

Parts – Mini Cheese Corn Tumbler 
 

 

  

1 
2 

3 

4 5, 6* 7 

8 

9 

10 

11 Lid (not shown) 

****CAUTION: If supply cord is damaged, it must be replaced CAUTION: If supply cord is damaged, it must be replaced CAUTION: If supply cord is damaged, it must be replaced CAUTION: If supply cord is damaged, it must be replaced 

by Gold Medby Gold Medby Gold Medby Gold Medal Products Co., its service agent, or similarly al Products Co., its service agent, or similarly al Products Co., its service agent, or similarly al Products Co., its service agent, or similarly 

qualified persons in order to avoid a hazard.qualified persons in order to avoid a hazard.qualified persons in order to avoid a hazard.qualified persons in order to avoid a hazard.    

    



  

 

MODEL # 2705 and 2705EX 
 
8

Item Part No. Description

1 49656 Glide 1" (x2)

2 89129 Hex Nut #8-32 (x2)

3 18710 Drive Bar Assembly

4 17543 Tumbler Base

5 87163 Strain Relief

22038 Lead-In Cord, 15 amp (Domestic)

42369 Power Supply Cord (Export)

49045 Motor 120V (Domestic)

49045EX Motor 230V (Export)

8 42532 Switch, DPST Rocker

9 17544 Motor Cover

10 17542 Plastic Tub

11 17547 Lid (Not Pictured)

6

7

Parts – Mini Cheese Corn Tumbler 
 

 

  

1 
2 

3 

4 5, 6* 7 

8 

9 

10 

11 Lid (not shown) 

****CAUTION: If supply cord is damaged, it must be replaced CAUTION: If supply cord is damaged, it must be replaced CAUTION: If supply cord is damaged, it must be replaced CAUTION: If supply cord is damaged, it must be replaced 

by Gold Medby Gold Medby Gold Medby Gold Medal Products Co., its service agent, or similarly al Products Co., its service agent, or similarly al Products Co., its service agent, or similarly al Products Co., its service agent, or similarly 

qualified persons in order to avoid a hazard.qualified persons in order to avoid a hazard.qualified persons in order to avoid a hazard.qualified persons in order to avoid a hazard.    

    



  

 

MODEL # 2705 and 2705EX 
 
8

Item Part No. Description

1 49656 Glide 1" (x2)

2 89129 Hex Nut #8-32 (x2)

3 18710 Drive Bar Assembly

4 17543 Tumbler Base

5 87163 Strain Relief

22038 Lead-In Cord, 15 amp (Domestic)

42369 Power Supply Cord (Export)

49045 Motor 120V (Domestic)

49045EX Motor 230V (Export)

8 42532 Switch, DPST Rocker

9 17544 Motor Cover

10 17542 Plastic Tub

11 17547 Lid (Not Pictured)

6

7

Parts – Mini Cheese Corn Tumbler 
 

 

  

1 
2 

3 

4 5, 6* 7 

8 

9 

10 

11 Lid (not shown) 

****CAUTION: If supply cord is damaged, it must be replaced CAUTION: If supply cord is damaged, it must be replaced CAUTION: If supply cord is damaged, it must be replaced CAUTION: If supply cord is damaged, it must be replaced 

by Gold Medby Gold Medby Gold Medby Gold Medal Products Co., its service agent, or similarly al Products Co., its service agent, or similarly al Products Co., its service agent, or similarly al Products Co., its service agent, or similarly 

qualified persons in order to avoid a hazard.qualified persons in order to avoid a hazard.qualified persons in order to avoid a hazard.qualified persons in order to avoid a hazard.    

    



  

 

MODEL # 2705 and 2705EX 
 
8

Item Part No. Description

1 49656 Glide 1" (x2)

2 89129 Hex Nut #8-32 (x2)

3 18710 Drive Bar Assembly

4 17543 Tumbler Base

5 87163 Strain Relief

22038 Lead-In Cord, 15 amp (Domestic)

42369 Power Supply Cord (Export)

49045 Motor 120V (Domestic)

49045EX Motor 230V (Export)

8 42532 Switch, DPST Rocker

9 17544 Motor Cover

10 17542 Plastic Tub

11 17547 Lid (Not Pictured)

6

7

Parts – Mini Cheese Corn Tumbler 
 

 

  

1 
2 

3 

4 5, 6* 7 

8 

9 

10 

11 Lid (not shown) 

****CAUTION: If supply cord is damaged, it must be replaced CAUTION: If supply cord is damaged, it must be replaced CAUTION: If supply cord is damaged, it must be replaced CAUTION: If supply cord is damaged, it must be replaced 

by Gold Medby Gold Medby Gold Medby Gold Medal Products Co., its service agent, or similarly al Products Co., its service agent, or similarly al Products Co., its service agent, or similarly al Products Co., its service agent, or similarly 

qualified persons in order to avoid a hazard.qualified persons in order to avoid a hazard.qualified persons in order to avoid a hazard.qualified persons in order to avoid a hazard.    

    



  

 

MODEL # 2705 and 2705EX 
 
8

Item Part No. Description

1 49656 Glide 1" (x2)

2 89129 Hex Nut #8-32 (x2)

3 18710 Drive Bar Assembly

4 17543 Tumbler Base

5 87163 Strain Relief

22038 Lead-In Cord, 15 amp (Domestic)

42369 Power Supply Cord (Export)

49045 Motor 120V (Domestic)

49045EX Motor 230V (Export)

8 42532 Switch, DPST Rocker

9 17544 Motor Cover

10 17542 Plastic Tub

11 17547 Lid (Not Pictured)

6

7

Parts – Mini Cheese Corn Tumbler 
 

 

  

1 
2 

3 

4 5, 6* 7 

8 

9 

10 

11 Lid (not shown) 

****CAUTION: If supply cord is damaged, it must be replaced CAUTION: If supply cord is damaged, it must be replaced CAUTION: If supply cord is damaged, it must be replaced CAUTION: If supply cord is damaged, it must be replaced 

by Gold Medby Gold Medby Gold Medby Gold Medal Products Co., its service agent, or similarly al Products Co., its service agent, or similarly al Products Co., its service agent, or similarly al Products Co., its service agent, or similarly 

qualified persons in order to avoid a hazard.qualified persons in order to avoid a hazard.qualified persons in order to avoid a hazard.qualified persons in order to avoid a hazard.    

    



  

 

MODEL # 2705 and 2705EX 
 
8

Item Part No. Description

1 49656 Glide 1" (x2)

2 89129 Hex Nut #8-32 (x2)

3 18710 Drive Bar Assembly

4 17543 Tumbler Base

5 87163 Strain Relief

22038 Lead-In Cord, 15 amp (Domestic)

42369 Power Supply Cord (Export)

49045 Motor 120V (Domestic)

49045EX Motor 230V (Export)

8 42532 Switch, DPST Rocker

9 17544 Motor Cover

10 17542 Plastic Tub

11 17547 Lid (Not Pictured)

6

7

Parts – Mini Cheese Corn Tumbler 
 

 

  

1 
2 

3 

4 5, 6* 7 

8 

9 

10 

11 Lid (not shown) 

****CAUTION: If supply cord is damaged, it must be replaced CAUTION: If supply cord is damaged, it must be replaced CAUTION: If supply cord is damaged, it must be replaced CAUTION: If supply cord is damaged, it must be replaced 

by Gold Medby Gold Medby Gold Medby Gold Medal Products Co., its service agent, or similarly al Products Co., its service agent, or similarly al Products Co., its service agent, or similarly al Products Co., its service agent, or similarly 

qualified persons in order to avoid a hazard.qualified persons in order to avoid a hazard.qualified persons in order to avoid a hazard.qualified persons in order to avoid a hazard.    

    



  

 

MODEL # 2705 and 2705EX 
 
8

Item Part No. Description

1 49656 Glide 1" (x2)

2 89129 Hex Nut #8-32 (x2)

3 18710 Drive Bar Assembly

4 17543 Tumbler Base

5 87163 Strain Relief

22038 Lead-In Cord, 15 amp (Domestic)

42369 Power Supply Cord (Export)

49045 Motor 120V (Domestic)

49045EX Motor 230V (Export)

8 42532 Switch, DPST Rocker

9 17544 Motor Cover

10 17542 Plastic Tub

11 17547 Lid (Not Pictured)

6

7

Parts – Mini Cheese Corn Tumbler 
 

 

  

1 
2 

3 

4 5, 6* 7 

8 

9 

10 

11 Lid (not shown) 

****CAUTION: If supply cord is damaged, it must be replaced CAUTION: If supply cord is damaged, it must be replaced CAUTION: If supply cord is damaged, it must be replaced CAUTION: If supply cord is damaged, it must be replaced 

by Gold Medby Gold Medby Gold Medby Gold Medal Products Co., its service agent, or similarly al Products Co., its service agent, or similarly al Products Co., its service agent, or similarly al Products Co., its service agent, or similarly 

qualified persons in order to avoid a hazard.qualified persons in order to avoid a hazard.qualified persons in order to avoid a hazard.qualified persons in order to avoid a hazard.    

    



  

 

MODEL # 2705 and 2705EX 
 
8

Item Part No. Description

1 49656 Glide 1" (x2)

2 89129 Hex Nut #8-32 (x2)

3 18710 Drive Bar Assembly

4 17543 Tumbler Base

5 87163 Strain Relief

22038 Lead-In Cord, 15 amp (Domestic)

42369 Power Supply Cord (Export)

49045 Motor 120V (Domestic)

49045EX Motor 230V (Export)

8 42532 Switch, DPST Rocker

9 17544 Motor Cover

10 17542 Plastic Tub

11 17547 Lid (Not Pictured)

6

7

Parts – Mini Cheese Corn Tumbler 
 

 

  

1 
2 

3 

4 5, 6* 7 

8 

9 

10 

11 Lid (not shown) 

****CAUTION: If supply cord is damaged, it must be replaced CAUTION: If supply cord is damaged, it must be replaced CAUTION: If supply cord is damaged, it must be replaced CAUTION: If supply cord is damaged, it must be replaced 

by Gold Medby Gold Medby Gold Medby Gold Medal Products Co., its service agent, or similarly al Products Co., its service agent, or similarly al Products Co., its service agent, or similarly al Products Co., its service agent, or similarly 

qualified persons in order to avoid a hazard.qualified persons in order to avoid a hazard.qualified persons in order to avoid a hazard.qualified persons in order to avoid a hazard.    

    



  

 

MODEL # 2705 and 2705EX 
 
8

Item Part No. Description

1 49656 Glide 1" (x2)

2 89129 Hex Nut #8-32 (x2)

3 18710 Drive Bar Assembly

4 17543 Tumbler Base

5 87163 Strain Relief

22038 Lead-In Cord, 15 amp (Domestic)

42369 Power Supply Cord (Export)

49045 Motor 120V (Domestic)

49045EX Motor 230V (Export)

8 42532 Switch, DPST Rocker

9 17544 Motor Cover

10 17542 Plastic Tub

11 17547 Lid (Not Pictured)

6

7

Parts – Mini Cheese Corn Tumbler 
 

 

  

1 
2 

3 

4 5, 6* 7 

8 

9 

10 

11 Lid (not shown) 

****CAUTION: If supply cord is damaged, it must be replaced CAUTION: If supply cord is damaged, it must be replaced CAUTION: If supply cord is damaged, it must be replaced CAUTION: If supply cord is damaged, it must be replaced 

by Gold Medby Gold Medby Gold Medby Gold Medal Products Co., its service agent, or similarly al Products Co., its service agent, or similarly al Products Co., its service agent, or similarly al Products Co., its service agent, or similarly 

qualified persons in order to avoid a hazard.qualified persons in order to avoid a hazard.qualified persons in order to avoid a hazard.qualified persons in order to avoid a hazard.    

    



  

 

MODEL # 2705 and 2705EX 
 
8

Item Part No. Description

1 49656 Glide 1" (x2)

2 89129 Hex Nut #8-32 (x2)

3 18710 Drive Bar Assembly

4 17543 Tumbler Base

5 87163 Strain Relief

22038 Lead-In Cord, 15 amp (Domestic)

42369 Power Supply Cord (Export)

49045 Motor 120V (Domestic)

49045EX Motor 230V (Export)

8 42532 Switch, DPST Rocker

9 17544 Motor Cover

10 17542 Plastic Tub

11 17547 Lid (Not Pictured)

6

7

Parts – Mini Cheese Corn Tumbler 
 

 

  

1 
2 

3 

4 5, 6* 7 

8 

9 

10 

11 Lid (not shown) 

****CAUTION: If supply cord is damaged, it must be replaced CAUTION: If supply cord is damaged, it must be replaced CAUTION: If supply cord is damaged, it must be replaced CAUTION: If supply cord is damaged, it must be replaced 

by Gold Medby Gold Medby Gold Medby Gold Medal Products Co., its service agent, or similarly al Products Co., its service agent, or similarly al Products Co., its service agent, or similarly al Products Co., its service agent, or similarly 

qualified persons in order to avoid a hazard.qualified persons in order to avoid a hazard.qualified persons in order to avoid a hazard.qualified persons in order to avoid a hazard.    

    



  

 

MODEL # 2705 and 2705EX 
 
8

Item Part No. Description

1 49656 Glide 1" (x2)

2 89129 Hex Nut #8-32 (x2)

3 18710 Drive Bar Assembly

4 17543 Tumbler Base

5 87163 Strain Relief

22038 Lead-In Cord, 15 amp (Domestic)

42369 Power Supply Cord (Export)

49045 Motor 120V (Domestic)

49045EX Motor 230V (Export)

8 42532 Switch, DPST Rocker

9 17544 Motor Cover

10 17542 Plastic Tub

11 17547 Lid (Not Pictured)

6

7

Parts – Mini Cheese Corn Tumbler 
 

 

  

1 
2 

3 

4 5, 6* 7 

8 

9 

10 

11 Lid (not shown) 

****CAUTION: If supply cord is damaged, it must be replaced CAUTION: If supply cord is damaged, it must be replaced CAUTION: If supply cord is damaged, it must be replaced CAUTION: If supply cord is damaged, it must be replaced 

by Gold Medby Gold Medby Gold Medby Gold Medal Products Co., its service agent, or similarly al Products Co., its service agent, or similarly al Products Co., its service agent, or similarly al Products Co., its service agent, or similarly 

qualified persons in order to avoid a hazard.qualified persons in order to avoid a hazard.qualified persons in order to avoid a hazard.qualified persons in order to avoid a hazard.    

    


